
cf=j= 2073.074 ;fnsf of]hgfx? cf=j= 2074.075 ;fnsf k|:tfljt of]hgfx?
qm=
;= of][hgf j*

f 
g=

/sd ? qm=
;= of][hgf j*

f 
g=

/sd ?
1 ljB't lj:tf/ of]hgf -7"nf]vfnL_ 1 454000 1 ljB't lj:tf/ 1 535000
2 k|eft k|flj 7"nf]hfqL vf=kf= lgdf{0f 2 454000 2 gfRg] vf]nf ljsf;] s'nf] 

lgdf{0f
2 535000

3
e]/L lnkm\6 l;rfO{ cfof]hgf dfgsf]6L 6f]n x'Fb} 
zflGtk'/ lnkm\6 l;rfO{ 3 454000 3

e]/L lnkm\6 l;rfO{ cfof]hgf 
dfgsf]6L 6f]n x'Fb} zflGtk'/ 
lnkm\6 l;rfO{

535000

4 n]vlem+uL bx ljB't lj:tf/ 4 454000 4 /fp6] a:g] tNnf] 8\jf/ 8\jf/] 
l;rfO{ s'nf]

4 535000
5 ljB't lj:tf/ em\ofqm]–sf7]3f/L 5 454000 5 ljB't lj:tf/ 

em\ofqm]–sf7]3f/L
5 535000

6 ;+o'Qm j8f sfof{nob]lv s'xL/] vf]nf k'n lgdf{0f 6 454000 6 lem+gL vf]nf shj]o lgdf{0f 535000
7 eujtL k|flj x'Fb} dflyNnf] wf/fkfgL x'Fb} b]j:yn 

hf]8\g] ;8s
7 454000 7 nf]b] d}gt8f rf}v] x'Fb} ufr] 

hf]8\g] ;8s
535000

8 454000 8 ljB't lj:tf/ 1070000
9 7"nf] x/]{ dl;gf ;8s lgdf{0f 454000 9 xfGg] l;dn ;*s 535000
10 kSsL k'n b]lv xflQ;'8] hfg] af6f], tfpn] af6f], 

6'gLvf]nf af6f] gofF 6«ofs vf]Ng]
10 454000 10 ljB't lj:tf/ 535000

11 u0f]zk'/ 9n lgsf; lgdf{0f–e]/Lu+uf !) l;:g]s'6L 
u0f]zk'/

11 454000 11 ljBfno ejg lgdf{)f 535000
12 lemnldn] lnkm\6 vfg]kfgL of]hgf lgdf{0f 12 454000 12 yflgrf}/ dflj lgdf{)f 535000
13 r's] tfn vf=kf= of]hgf 13 454000 13 sflzk'/ ljBfnosf] lkmN8 

tf/jf/
535000

14
k|x/L rf}sL–3Gofn6f]n–/fgLju/ hf]8\g] ;8s 
lgdf{0f ug]{

14 454000 14
/ftfrf}/6f]ndf /x]sf] l8n a= 
vqLsf] 3/b]lv l5Gr' 
hfh/sf]6 ;8s hf]l8g] ;8s 
kSsL gfnL / u|fe]n ug]{ jf 
u0f[z k|f lj ejg lgdf{0f tyf 
tf/jf/ 

535000

15
bdfO{ gfpnfb]lv jL/ a= e08f/L /fgfsf] 3/af6 
t'nf/fd zdf{sf] 3/;Dd gofF 6\ofs vf]Ng] Pj+ l/+u/f]8 
jL/hLt /fjtsf] 3/ x'b} e08f/L6f]naf6 slj/fh 
/fgfsf] 3/;Dd ;8s lgdf{0f ug]{

15 454000 15
;fgf] cfFkvf]nLb]lv km;f+u] 
gfpnf hfg] jf6f]sf] b'j} vf]nfdf 
kSsL k'n lgdf{0f x'Fb} uf]s0f{ 
v8\sfsf] 3/;Dd gofF 6\ofs 

535000

16
nfnLu'F/f; dfljsf] :t/f]GgtL ug{ cfjZos kg]{ 
k"jf{wf/ lgdf{0f ug{ 16 454000 16

nfnLu'F/f; dfljsf] 
:t/f]GgtL ug{ cfjZos kg]{ 
k"jf{wf/ lgdf{0f ug{

535000
s'n hDdf 7264000 9095000

e]/Lu+uf gu/kflnsfsf] sfof{no
;'v]{t

cf=j= 2073.074 / 2074.075 ;fnsf] 
;fdflhs cfly{s tyf ef}lts k"jf{wf/ tkm{sf of]hgfx?


